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2. (@) single replacement; 2 Fe + 3 CuS0, — Fey(SO,)g + 3 Cu
(b) decomposition: PClg — PCl; + Cly
e} synthesis; 2 KCI + 3 0, 2 KCIO,
(d) combustion: CyHg + 5 0y 3O, + 4 H,0
(e) decomposition: 2 LiNO —2 LiINO, + O
() scid-bese neutralzstion: 2 HCI + CalOH) = CaCl + 2 H,0
(@) synthesis; 3 Ca + N, — Cagll
(h) ouble replacement; AGNO; + NeCl— AgCl + NahOy
3. {a) Ny + 3 H, — 2 Ny synthesis
(b) H,C0; — CO, + H,0: decompasition
(e} 2 Al + 3 CuCly — 2 AICk + 3 Cu; single replacement
(d) 2 ACl, + 3 PbiNOgl, — 3 PCl, + 2 AlINO)y; double repizcement
(e) 2,0~ 2 H, + Oy; decomposition
4 () A+ B> AB; synthesis
(b) AB + XY — AY + BX: double replzcement
{e) HX + A-OH — XA + HOH; acid-base neutralization
(d) AB + X— X8 + A; single replscement

(e) A8 — A + 8; decomposition
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5. (o) synthesis: 4 K+ 0, 2K,0
(b) double replacement; PBINOy), + 12,50, — PESO + 2 NeNOy
o) combustion: g, + 80, 5 CO, + 6 H,0
(d) acid-bese neutralizstion: H,S0, + 2 NaOH — NeSO, + 2 H,0
o) synthesis; Ca + Cl, - CaCly
0 desompositon; LS =211+ §

(g) desomposition: 2 Hg0 — 2 Ho + O,

(h) acic-bese nevtralization: 2 HC + CalOH), - CaCl + 2 H,0
) combustion: 2 C+,0H + 9 0, 6 C0, + & H,0

) synthesis; 2 A1 + 35 — ALS;

04 single replacement; 2 Al + 3 CUSO, —3 Cu + A(S0,)y

6. (a) decomposition: MgCl, — Mg + Cl,

(b) double replacement; 2 AgNO; + Na;§ — Ag,S + 2 1O
o) combustion: 2 CH,0H + 30, 2 C0, + & H,0
(d) scic-bese neutraization: 2 HE + SrOH), — SF, + 2 H,0




